KEtaoR HEDODBWH SN 942 (B 1% 848 XKt 1048)
Bt H 2019/09/16(8 - #1)
ATEAE FTILR)T
A7 kRS 2Ly M1 VALY
(FRLA—IL) ouTaTA 100406700
INO—X 101 42 {3 @ @ 16 17 @®
18HEE
g fiz K4 ouT IN GR HDCP Net
=% FA sk 37 41 78 7.2 70.8 AE
R mE Bif 40 37 77 6.0 71.0 AE
3L hE E 42 40 82 10.8 71.2 AE
Af1 =8 R 43 45 88 16.8 71.2 AR
541 Lt HER 39 43 82 10.8 71.2 AE
641 ¥H EIE 41 40 81 9.6 714 AR
742 AE HEF 39 36 75 36 71.4 AE
8411 Bt E- 39 42 81 9.6 714 AE
oL HE % 41 39 80 8.4 71.6 AE
106z KA BRZE 46 46 92 20.4 71.6 AE
1142 INg B 39 40 79 7.2 71.8
1241 IR s 37 42 79 7.2 71.8
1341 =tE —5h 44 40 84 12.0 72.0
1441 =ith &EA 42 48 920 18.0 72.0
1541 FRF 8 38 38 76 36 72.4
164z {EEE FxX 38 38 76 36 72.4
1741 AESR {HEH 42 43 85 12.0 73.0
1841 FiF Bh= 41 38 79 6.0 73.0
194z KA =5 39 40 79 6.0 73.0
204z BE 51 46 97 24.0 73.0 AE
214 kg BEE 43 48 91 18.0 73.0
224u HaRE A 42 36 78 4.8 73.2
2341 ILI4R I1EBH 45 45 920 16.8 73.2
2441 =% FH 42 35 77 36 73.4
25431 AE & 43 40 83 9.6 73.4




264% EcE Fit 42 41 83 9.6 73.4
2741 =R ER 42 41 83 9.6 73.4
2841 5F B= 57 49 106 32.4 73.6
2941 FAX BE 46 41 87 13.2 73.8
304z K TE 42 44 86 12.0 74.0 AE
314 BE BX 42 44 86 12.0 74.0
3241 TE EF 47 45 92 18.0 74.0
3341 EH = 45 47 92 18.0 74.0
3441 (1T 1y 50 48 98 24.0 74.0
3541 FE B= 47 50 97 22.8 74.2
364 A AR 53 44 97 22.8 74.2
374 hg —F 41 43 84 9.6 74.4
3841 BR #H#DF 45 45 920 15.6 74.4
394z Al B\E 49 47 96 21.6 74.4
40fiz #fE EFE 42 40 82 7.2 74.8 AE
4141 RIR #8 41 41 82 7.2 74.8
4241 2R £ 44 38 82 7.2 74.8
4341 ik K7 42 39 81 6.0 75.0
4461 EE SZHEM 49 50 99 24.0 75.0
4541 AESR MF 50 49 99 24.0 75.0
4641 AL B=E 42 38 80 4.8 75.2
4741 IR & 47 45 92 16.8 75.2
4841 g —i& 44 42 86 10.8 75.2
4943% NA (&7 51 47 98 22.8 75.2
5041 ME &F 50 47 97 21.6 75.4 AE
514z IR Bt 47 50 97 21.6 75.4
5241 ) HE 40 44 84 8.4 75.6
534 ER K 42 41 83 7.2 75.8
5441 ME & 51 50 101 25.2 75.8
554:f ERR —tt 52 49 101 25.2 75.8
564z HIIR {&BA 44 44 88 12.0 76.0
5741 ¥ FF 50 44 94 18.0 76.0
58{sL TR X 48 40 88 12.0 76.0
594 Il Ez 50 43 93 16.8 76.2




60431 Kith A 46 41 87 10.8 76.2 AE
614 WHE #= 47 44 91 14.4 76.6
6241 nE FE 44 41 85 8.4 76.6
634 =t 52 51 103 26.4 76.6
6441 ey BEi— 40 38 78 1.2 76.8
654 f&H *3 44 46 90 13.2 76.8
664 EHl & 41 43 84 7.2 76.8
674 WA HIE 47 42 89 12.0 77.0
6841 AR E£E 45 50 95 18.0 77.0
694 [RE F& 40 47 87 9.6 77.4
704z SH BX 47 46 93 15.6 774 AE
T4z BHE #h 40 47 87 9.6 77.4
72451 I Rt 43 43 86 8.4 77.6
734 A IRt 44 48 92 14.4 77.6
7441 R FA 52 52 104 26.4 77.6
7541 ki K= 40 45 85 7.2 77.8
7641 BEE £— 48 42 90 12.0 78.0
7741 gH RE 53 55 108 30.0 78.0
7841 PR f8— 58 54 112 33.6 78.4
7941 o s 51 48 99 20.4 78.6
8043f ®e s 50 46 96 16.8 79.2 AE
814 e =ik 51 45 96 16.8 79.2
8241 Xt BAZE 48 48 96 16.8 79.2
834 INTE EER 44 46 90 10.8 79.2
8441 B 325h 44 39 83 36 79.4
854 =l XE 41 46 87 7.2 79.8
861iL AH %05h 53 51 104 24.0 80.0
8741 MHE FEE 47 43 920 9.6 80.4
884 e Ex 58 52 110 28.8 81.2
894L T 47EA 59 49 108 26.4 81.6
90431 ThE 8F 59 53 112 30.0 82.0 AE
914 FEIH i 54 59 113 30.0 83.0
92431 BEH = 47 52 99 15.6 83.4
9343f RN Eig 58 54 112 27.6 84.4




